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Absolute phenotypic risk score
· Men: P = 1- 0.886 exp((3.941* ln (age) + 0.469*currentsmoking  - 0.763* ln (HDL) + 1.352* Ln (totalcholesterol) + 0.882*antihypertensivemedication + 0.620*(diabetes) )-18.4971)
· Women: P = 1- 0.961exp((5.671* ln (age) + 0.717 *currentsmoking  - 0.880* ln (HDL) + 0.863* ln (totalcholesterol) + 0.738*antihypertensivemedication + 0.861*(diabetes) )-24.4355)
Phenotypic Heart Age 
· Male heart age = exp((Ln(Ln(1-P)/Ln(0.886))-K.man)/3.941)
where K.man= (- 0.763* ln(1.1637) + 1.352* ln(4.6548)) -18.4971, and P is the 10-year absolute phenotypic risk over 10 years for that participant from above 
· Female heart age =exp((ln(ln(1-P)/ln(0.961))-K.woman)/5.671)
where K.woman= (-0.880* ln (1.1637) + 0.863* ln (4.6548)) -24.4355 and P is the 10-year absolute phenotypic risk over 10 years for that participant from above
Comparator phenotypic risk 
· Men: P = 1- 0.886 exp(4.397*ln(age) -18.3230)
· Women: P = 1- 0.961exp(6.139*ln(age) -25.8103)

